Temperature relative humidity %
0 50
0 100
5 50
5 100

10 50
10 100
15 50
15 100
20 50
20 100
25 50
25 100
30 50
30 100
35 50
35 100
40 50
40 100
45 50
45 100
50 50
50 100
55 50
55 100
60 50
60 100

starting-point 1 kg air are about 1 m3 air

Poﬁ water per kg air (g/kg)

1,9

37

2.7

5,4

3,8

7,6

5,2

10,5

72

14,6

9,8

19,9

13,2

26,9

17,6

36,2

23,3

48,4

30,6

64,5

40

85,6

52

113,5

67,3

151




Exemplification 1

Exemplification 2

60.000 m3 air per our a cross the installation

fresh air from 15 degree, with 50 RV

Temperature out from 30 degree with 100% RV
to evaporate lot water = 60.000 x (26,9-5,2)/1000 =1302 kg every our.
Wan week give than 1302 kg x 168 ours = 218 tons water.

The same starting-point , but now are the temperature 45 degree.
Than are the evaporate lot water 60.000 x (64,5-5,2)1000 = 2592 kg every our
Wan week give than 2592kg x 168 ours = 436 tons water.
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